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Instructions to Candidates:

% Answer ALL the questions.
%+ Missing data, if any, may be suitably assumed.

List the compenents of Advanced Automation System with respect to Air Traffic
Controller (ATC)? With a neat diagram explain physical view of Initial Sector Suite
System (ISSS) of ATC.

What do you mean by adaptable systems? Explain any four participating components
of a microkernel pattern.
Compare and contrast between peer review and inspection meetings.

With the help of a neat block diagram of Architecture Business Cycle (ABC), explain
the different activities which are involved in creating a software architecture.

What is producer—consumér problem with respect to avionics system? How it is
resolved using data banker module?

What are the agenda to be discussed in vendor presentation meetings in which
software architect is involved?

What do you mean by tactics? Explain the availability tactics with suitable example.
List and explain the business qualities that helps in shaping the system's architecture
Explain the objectives of management and distributed technical meetings. Also bring

out their difference.

What are the reasons that made a work bench approach neecessary for architecture
reconstruction? Explain Information extraction activity in detail with guidelines.
Depict the deployment diagram for ATM (Automated Teller Machine) system.

With the help of a neat diagram, explain evolutionary delivery life cycle of a software
architecture.
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What are the common issues faced by an architect while mapping the objects to
Relational database? Explain three major approaches for mapping tables to classes

with appropriate diagrams.
“Tactics are the building blocks upon which architectural patterns are built’-Justify

this statement by taking the support of Active Object Pattern.
Explain any four benefits of Model-View-Controller (MVC) architectural pattern.
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